ITEMS1,3&5
T '_I'" HAVE BEEN REVISED
TO SUIT THIS AS BUILT
CONDITION SHOWN ON
THIS ASSEMBY, P41050903-710000-03.

DOOR

PANEL ITEM 5
IS UNIQUE TO THIS AS BUILT

( 1138.50] ) ASSEMBY, P41050903-710000-03.

SENTROL

12345 SW LEVETON DR.
TUALATIN, OR. 97062
800-547-2556

1 b AROMAT CORP.

1701 GOLF RD., SUITE 900
ROLLING MEADOWS, IL. 60008
| | 800-228-2350

b LOCKNETICS

575 BIRCH STREET
FORRESTVILLE, CT. 06010

| | 203-584-9158

30 | 1/4-20 HEX. NUT STAINLESS STEEL

11 29 | #8-32 X 1.25 SOC. HD. SCREW. STAINLESS STEEL

28 5 01 | WELD FIXTURE

27 1/4-20 X 15 LG, SOC. HD. SCREW STAINLESS STEEL

26 5/16-18 LOCKNUT STAINLESS STEEL
CK-TITE 25 151618 X 2.00 LG, C'SINK, ALLEN HD_SCREW |STAINLESS STEEL
24 #10-32 HEX NUT STAINLESS STEEL

23 #10-32 X 15 LG. SET SCR STAINLESS STEEL

22 1/4-20 X 1.5 LG. SET SCR. ISTAINLESS STEEL

21 1/4 FLAT WASHER STAINLESS STEEL

20 1/4 LOCK WASHER

1/4-20 X_75 LG. HEX. HD. SCREW

#10-32 X 2" LG. SET SCREW.

M5 LOCKWASHER

6 M5 FLAT WASHER

MS5 X 8MM_SOC. HD. SCREW.

* WELD 14 #8-32 HEX. NUT

FIXTURE 13 #8-32 LOCK WASHER

12 #8-32 FLAT WASHER

11 #8-32 X 1.50 HEX HD. SCREW.

1 10 MAGNET LOCK___SENSOR # 320M-MBS LOCKNETICS

[22.35] ) MICROSWITCH __ #AZ81089 AROMAT/MATSUSHITA
8 MAGNET SENSOR # 2707A SENTROL
7__|P41050903-710007-00 | MAGNET SENSOR SHIM
6__|P41050903-710006-00 | MAGNET LOCK SHIM
5
4

O
V

LOCK-TITE

27

IN £ £ MY ] f N 9] 'NY ) BN (N

29

28

£

P41050903-710005-01 | MAGNET LOCK PLATE

341050903'7M MICROSWITCH ACTUATOR

% 5 [P41050003.710003.02 | BASE PLATE

o+ 2 P41050903-710002-01 | MOUNTING BRACKET

19 | 20 | 21 03 T [P41050903 710001-01 | SIDE PLATE

TRIP POINT DOOR ; . Y = v | ovormrmeen [T —— o
PARTS LisT

N 3 1 O () Y

LR TMUSTLNEUP o * FOR THESE DIMENSIONS. s A2372702 __ ARGONNE NATIONAL LABORATORY A
USE WELD FIXTURE BB [ouason [seelosms | snse] "ADVANCED PHOTON SOURCE
sgmeszeny () e o - o G T PRI o VR 7
ARE FOR REFERENCE ONLY. oL [VMOUNTING BRKT. ITEV 2 CHG D, SUREACE TEXTURE TOBE J.Cl s _ HUTCH DOORASS\QIIETJ:B}‘ILIYAOUNTING
01 |BASE PLATE -ITEM 3 CHG'D. OIMENSIONING & TOLERANCING IN J. CHANG 2/16/9¢

01 |MICROSWITCH ACTUATOR-ITEM 4 CHE'RS MATERIAL SCALE P "DRAWING NUMBER
e ChANGE DESCRITION o [ oo [ one AS NOTED 11
eer 14 | D | P41050903-710000-02

N
»

<

2

2




